Transform the following quadratic equations to vertex form.


1.	


2.	


3.	


4.	


[bookmark: _GoBack]5.	
Microsoft_Equation3.bin

image4.emf
y=-0.85x"+2x









y

=-

0.85

x2

+

2

x


Microsoft_Equation4.bin

image5.emf
y=125x>-3.5x—-42









y

=

1.25

x2

-

3.5

x

-

4.2


Microsoft_Equation5.bin

image1.emf
y=x>—12x+9









y

=

x2

-

12

x

+

9


Microsoft_Equation1.bin

image2.emf
y=2x>+5x-3









y

=

2

x2

+

5

x

-

3


Microsoft_Equation2.bin

image3.emf
y=—x"—8x+5









y

=-

x2

-

8

x

+

5






